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Theorem: A parallelogram is a rhombus if and only if ils
diagonals are perpendicular.

1. if aparallelogram is a rhombus, then its diagonals are

perpendicular.
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it is a rhrombus.

Given: Parallelogram ABCD
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If the diagonails of parallelogram are perpendicular, then
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Theorem: A parallelogram is a rectangle if and only if its
diagonals are congruent.

If a parallelogram is a rectangle, then its diagonals are

congruent.
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2. I the diagonals of a parallelogram are congruent, then it
is a rectangle.

B ~ C
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Write 2-column proofs for the following Theorems.

Theorem: Each diagonal of a rhombus bisects two angles of the rhombus.
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Theorem: The midpoint of the hypotenuse of a right triangle is equidistant from
the three vertices.
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Theorem: if an angle of a parallelogram is a right angle, then the parallelogram
is a rectangle. :')
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Theorem: If two consecutive sides of a parallelogram are congruent, then the
parallelegram is a rhombus.
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